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51.(b)f(x)=x3-3x2-6x+8 Note: To have a rectangular prism we must have

f(x) > 0 and x > O_To have a positive dimension
for length, width and height we cannot consider
values for x where x < 4 otherwise some of the
dimensions will be less than O. Therefore,
positive dimensions and volume occurs when
Xx=4
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5 B, P y 4 & X x=-3and3
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53.(b) (1) Invariant points (p,{]) and ( . ,1)_

(i) Domain xﬂ_::g Rangey=0

54_—2;j 5b(a) B=3nm+4nn,nel, 8=4mn, nel
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58 (a) x=8 58.(b) 10-98W/m2
59.(a) a® — 18a® + 135 — %Jr 12?
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or 0.158 W/m=2
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